
1
12

2

1617

10
13

9

4
8

14
15

3

7
5

11
6

137-8687 STARBOARD SIDE SHOWN. 
PORT SIDE IS 137-8647, ONLY 
DIFFERENCE IS #1 137-8648 BRACKET

137-8653 STARBOARD
137-8648 PORT

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS CONDITION THAT IT SHALL NOT BE LENT, COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER 
PURPOSE WITHOUT WRITTEN  CONSENT OF HARDIN MARINE INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S PRINCIPALS LIABLE FOR LOSS AND DAMAGES.

www.hardin-marine.com

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 137-8653 MOUNT, BRAVO STBD TRIM SENSOR 1
2 137-8654 ARM, BRAVO TRIM ACTUATOR 1
3 525-57008 RETAINER 2
4 525-840843 LINK, ROD 1
5 525-840845 ARM, BRAVO TRIM SENDER 1
6 525-840846 HOUSING, TRIM SENDER 1
7 525-8M0095310 TRIM SENSOR 1
8 525-17-67297 PIN, CLEVIS 1
9 525-18-210711 COTTER PIN 1
10 620-60311 ECLIP, SHIFTER 1
11 90006CN-FNSS NUT, 6-32 2
12 900-06C050SFS BOLT, 6-32 x .50 2
13 90010AN-STSS WASHER, #10 AN 1
14 90010F075SHS BOLT, 10-32 x .75 2
15 90010SL-STSS WASHER, #10 2
16 90043AN-STSS WASHER , 7/16AN 1
17 90043C100HHS BOLT,7/16-14 x 1.00 1

BRAVO GIMBAL MOUNT TRIM INDICATOR
TITLE:

HARDIN
MARINE

PART NO.
11 Industry Dr. Palm Coast, FL 32137

386-445-2500 / FAX 386-445-1122 137-8687



INSTALLATION INSTRUCTIONS:

1) THE SENSOR AND ARM COMES PREASSEMBLED. STARBOARD SIDE SHOWN. PORT SIDE IS THE SAME INSTRUCTIONS.
2) IF STEERING RAMS ARE IN THE WAY, CAREFULLY REMOVE THEM.
3) REMOVE EXISTING NUTS, FIG. A. SLIDE BRACKET ASSEMBLY OVER STUDS. USING 5/8 SOCKET REINSTALL NUTS AND TORQUE TO 45 FT LBS..
4) LOWER OUTDRIVE TO THE LOWEST POSITION. INSTALL THE BRACKET TO THE PIVOT PIN, FIG. B, USING 5/8 SOCKET, SNUG BRACKET.
5) RAISE AND LOWER DRIVE TO PROPERLY POSTION THE PIVOT PIN BRACKET. YOU WANT TO MAKE SURE THE SENSOR ARM DOES NOT STOP WHILE THE DRIVE CONTINUES TO MOVE. MOVE SIDE 
TO SIDE TO MAKE SURE NO BIND IN THE BRACKET.
6) YOU CAN RUN THE SENSOR WIRE TO  THE STOCK MERCURY INLET INSIDE THE GIMBAL HOUSING OR ONE OF THE SHOWN THRU HULLS, SOLD SEPARETELY.
7) WIRE THE TRIM SENDER TO THE DASH PANEL. SEE WIRE INFORMATION ABOVE. IF SINGLE DRIVE ,CONNECT BOTH SIDES OF THE DASH PANEL TO THE SINGLE SENDER. 
8) LOWER THE DRIVE ALL THE WAY DOWN. USING 5/32 ALLEN KEY, LOOSEN SENDER BOLTS, FIG. C. ROTATE THE SENDER COUNTER CLOCKWISE UNTIL JUST THE BOTTOM LIGHT ON THE DASH 
PANEL IS LIT.
9) RAISE OUTDRIVE. 
10) USING 1/16 ALLEN KEY REMOVE THE BACK COVER. USING A SMALL FLAT BLADE SCREWDRIVER, CAREFULLY  ROTATE THE SCREWS COUNTER CLOCKWISE FIG. D. SOME LIGHTS WILL TURN 
OFF. NOW TURN THE SCREW CLOCKWISE TILL THE TOP LIGHT BECOMES ILLUMINATED. 
11) CYCLE DRIVE UP AND DOWN TO MAKE SURE  DASH PANEL IS ILLUMINATED THE FULL TRAVEL. NOW DO TO THE OTHER SIDE. ONCE DONE, REINSTALL REAR COVER AND INSTALL DASH 
PANEL.
12) REINSTALL STEERING RAMS. WIRE TIE THE TRIM SENDER TO THE TRIM RAM. MAKE SURE YOU ROTATE THE DRIVE LEFT AND RIGHT AND THE WIRES ARE NOT BINDING OR PULLING THE WIRES.

A

B

C

DASH PANEL TO 3 WIRE SENDER WIRE 
COLOR CODE:
1) BLACK - GROUND
2) RED - 12V/ 5AMP FUSED KEYED POWER
3) YELLOW - DASH LIGHTS
4) BLUE - PORT SENDER BLUE WIRE
5) WHITE - PORT SENDER WHITE WIRE
6) GREY - PORT SENDER RED WIRE
7) BLUE - STBD SENDER BLUE WIRE
8) WHITE - STBD SENDER WHITE WIRE
9) GREY - STBD SENDER RED WIRE
 

620-336181 STRAIGHT
620-336180 45

PORT
STBD

D

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS 
CONDITION THAT IT SHALL NOT BE LENT, COPIED OR 
DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER 
PURPOSE WITHOUT WRITTEN  CONSENT OF HARDIN MARINE 
INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S 
PRINCIPALS LIABLE FOR LOSS AND DAMAGES.

www.hardin-marine.com

WARNING:
ATTACHING POWER TO 
ANY OTHER WIRE THAN 
THE RED OR GREY WIRE 
WILL PERMENANTLY 
DAMAGE THE SENDER 
AND DASH PANEL.

BRAVO ELECTRONIC TRIM SENDER
TITLE:

HARDIN
MARINE

PART NO.
11 Industry Dr. Palm Coast, FL 32137

386-445-2500 / FAX 386-445-1122 137-8687



A

PORT

STBD

DETAIL A
SCALE 1 : 1

www.hardin-marine.com

DASH PANEL TO 3 WIRE SENDER WIRE COLOR 
CODE:
1) BLACK - GROUND
2) RED - 12V/ 5AMP FUSED KEYED POWER
3) YELLOW - DASH LIGHTS
4) BLUE - PORT SENDER BLUE WIRE 
5) WHITE - PORT SENDER WHITE WIRE 
6) GREY - PORT SENDER RED WIRE 
7) BLUE - STBD SENDER BLUE WIRE 
8) WHITE - STBD SENDER WHITE WIRE 
9) GREY - STBD SENDER RED WIRE 
 

USED IN 137-8144, 137-8687, 137-8689, 137-8690 & 137-8729 ACTUATOR KITS

ADJUSTING THE LED LIGHT  RANGE FOR MERCURY SMARTCRAFT/3 WIRE SENDER:
1) MOVE THE DRIVE/TAB ALL THE WAY DOWN.
2) BOTH SENDERS MUST BE WIRED AND THE BOTTOM LIGHT ON BOTH SIDES MUST BE LIT. IF ONLY ONE SENDER 
IS BEING USED, WIRE BOTH SIDES OF THE DASH PANEL TO THE SINGLE SENDER.
3) ADJUST THE MERCURY SENDER SO THE BOTTOM LIGHT IS ON. WHEN TIGHTENING THE BOLTS, THE LIGHT 
MIGHT TURN OFF OR SHOW TWO LIGHTS. IF SO, LOOSEN BOLTS, ADJUST SENDER AND TIGHTEN BOLTS AGAIN. 
SENDER IS VERY SENSITIVE TO MOVEMENT.
4) MOVE THE DRIVE/TAB ALL THE WAY UP.
5) USING 1/16 ALLEN KEY, REMOVE THE BACK COVER.
6) USING A SMALL FLAT SCREWDRIVER, CAREFULLY TURN THE ADJUSTMENT SCREW ON THE BACK OFF THE 
LED PANEL ALL THE WAY COUNTERCLOCKWISE. SOME OF THE TOP LED'S SHOULD TURN OFF.
7) SLOWLY TURN THE ADJUSTING SCREW CLOCKWISE UNTIL THE THE TOP LED LIGHT BEGINS TO ILLUMINATE. 
PANEL IS NOW ADJUSTED FOR FULL RANGE. NOW ADJUST THE OTHER SIDE. CYCLE UP AND DOWN A FEW 
TIMES TO MAKE SURE LIGHTS ARE ADJUSTED PROPERLY.
8) REINSTALL REAR COVER. 
9) 2 SLOT SHOWN. SAME INSTRUCTIONS FOR 4 AND 6 SLOT PANELS.

137-8684 HARNESS KIT COMES WITH:
(2) 30' SENDER HARNESS (GREY, BLUE 
AND WHITE)
(1) 30' RED WIRE
(1) 5AMP FUSE AND HOLDER
(20) BUTT CONNECTORS

WARNING:
ATTACHING POWER TO ANY OTHER WIRE THAN 
THE RED OR GREY WIRE WILL PERMENANTLY 
DAMAGE THE SENDER AND DASH PANEL.

3 WIRE SENDER WIRING
TITLE:

HARDIN
MARINE

PART NO.
11 Industry Dr. Palm Coast, FL 32137

386-445-2500 / FAX 386-445-1122 137-8684



' 

1. Prepare drive for installation by lowering the drive(s) to a
level attitude, then remove steering rams at the back cap.
Swing the rams to the side out of your way. Ensure that
hydraulic lines are not kinked or damaged when swinging the
rams. On multi engine boats, remove the tie bar.

2. Swing the drive to the left (port) to expose the gimble ring
pivot pin.

3. Mount pivot pin bracket temporarily with supplied bolt. Only
tighten the bolt snug, it will be removed later for final
installation.

4. By hand, swing drive left and right to ensure bracket does
not contact any part of transom housing or steering ram
mount bolts.

5. Remove center and lower nut on the right (starboard) side of
the drive. Leave the washers on the studs. Install lower

bracket on studs and secure with nuts.

***IMPORTANT*** There must be a washer between the drive
and the bracket for proper alignment.

6. See picture on following page for visual reference.

137-8729
IMCO GIMBAL / SCX 3 WIRE MERC SENDER





,, 

Alignment 

1. Due to slight variations in brackets, castings, and
machining, it is important to adjust the alignment of the
sender arm with the upper bracket. The goal is to align the
forked plastic sender arm with the upper bracket. Perfect
alignment prevents premature wear and ensures proper
function. In the picture below, you can see the upper
bracket needs to bend inwards slightly to align it with the

slot in the lastic arm.



2. Bend the upper bracket inwards or outwards to achieve
perfect alignment. In the example below, a few gentle taps
with a soft facet mallet brings the bracket into alignment.



,, 

FINAL ASSEMBLY 

1. The pivot pin needs to installed from the inside out so the
cotter pin is on the outside. To do this, you will need to
remove the upper bracket and the sender from the lower
bracket.

2. To remove the sender, unscrew the two Philips screws.
Don't lose the lock washers or bent sheet metal retainers.

3. With the sender removed, connect the plastic arm to the
upper bracket with the cotter pin and secure with the washer
and cotter pin. See picture below.

4. Reinstall sender on to lower mount. Reinstall upper mount,
using Loctite on the bolt threads.



, 

5. Reinstall steering rams and tie bar. Secure sender wires to
ram hoses as shown in the picture below. It is important to
give the wire enough slack so the drive(s) can move fully left
and right without binding or pulling the wires.



WIRING AND ADJUSTMENT 

1. To get the wires through the transom you can reuse the slot
in the transom and cable cover to pass the wires through
the transom. You will have to cut the wires off the sending
unit below the molded on white seal and add wires to extend
through the transom. Ensure your splices are water tight, we
suggest soldering the wires together and sealing with a
marine grade heat shrink tube. The wires passed through
the old cable hole in the transom should be sealed with
silicone like the cable was.

2. Wiring up the indicator. The three wires out of the sender
are:

Wire "A" = Red = 5+ volt 
Wire "B" = White = Signal wire 
Wire "C" = Blue = Ground 





















 2.00 

 2.50 

 1.96 

 5.00 

 4.46 

 .50 

 .95 

USE 1/2 DRILL BIT FOR WIRE SLOTS. USE 
JIGSAW TO CUTOUT BETWEEN THE 2 HOLES.

USE 1/4 DRILL BIT FOR MOUNTING HOLES

DASH PANEL OUTSIDE PROFILE

THIS DRAWING IS CONFIDENTIAL AND IS SUPPLIED ON EXPRESS CONDITION THAT IT SHALL NOT BE LENT, COPIED OR DISCLOSED TO ANY OTHER PERSON OR USED FOR ANY OTHER 
PURPOSE WITHOUT WRITTEN  CONSENT OF MAYFAIR HYDRAULICS INC.. BREACH OF THIS CONTRACT WILL HOLD ........ AND IT'S PRINCIPALS LIABLE FOR LOSS AND DAMAGES.

www.hardin-marine.com

MAKE SURE PRINTER IS SET TO 1:1 
SCALE WHEN PRITING. MEASURE THIS 
LINE TO INSURE CORRECT SCALE.

2 SLOT DASH PANEL CUTOUTTITLE:

PART NO.
MAYFAIR PERFORMANCE


	137-8729i 
	137-8687 INSTALLED (2)
	Sheet1
	Drawing View2


	137-8687 PARTS (1)
	Sheet1
	Drawing View2


	137-8729i
	137-8729I
	137-8729I
	137-8729i
	137-8729i
	IMCO SCX TRIM SENDER
	MERCURY SMART TRIM SENSOR




	137-8684 WIRING
	Sheet1
	Drawing View1
	Detail View A (1 : 1)




	2_SLOT_DASH_PANEL_DRILL_TEMPLATE
	Sheet1
	Drawing View1





